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Part I Cloze Test (20 points)

For each blank in the following reading passage, choose
the most suitable word from the following given words.
Fill in each blank with one suitable word from the four
choices given below.

Only 10 to 20 percent of laughing is a response to humor.
Most of the time it's message we send to other people —
communicating joyful disposition, a willingness to__ 1
and so on. It occupies a special place in social interaction
and is a fascinating feature of our biology, with motor,
2 and cognitive components. Scientists study all kinds
of emotions and behavior, but few focuses on this most
basic ingredient. Laughter givesusa _ 3 that we have
powerful systems in our brain which respond to pleasure,
happiness and joy. It's also involved in events such as

4 of fear.

You only have to look at the primates closest to
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36. In his works, Defoe praised the industrons, sturdy mﬂﬂnwedhmmpﬂiwihrmedum
den, unfortinate poor. ;

[A) working people [B) aristocrats

[C) middle-class people (D] eapitalist upstarts
37. To some extent, the Romantic Movement revesled a . atfitude towards the social and political

conditions then.

(A) positive ' (B) negative

[C) newtral (D] prejudiced
Ha-mmmmmm,____mmhhﬁmﬂwmdﬂmm:iﬂﬁcm.

[A) sense (B) synomyn

LC] homomm (D] reference

jﬂ.Awmmmmmmemwmewamﬂ
speakers i called

[A] situational dislect [B) slang
(C] linguistic taboo (D) bilingualism
40. Syntactic change includes all the following EXCEPT
[A) rule loss (B) affix loss
(€] rule addition (D) rule change
PART I PROOFREADING AND ERROR CORRECTION 20Pards 15 min ]

The possoge contitng TEN errors . Emnﬁﬁuﬁaﬂadﬁmmm&mummnqﬂ‘mm- In each ecase ,
only ONE word i3 dnvolved . You showld proofread the passage and correct it .

"Home, sweet home” is a phrase that expresses an essential
attitude in the United States . Whether the reality of life in the
family house is sweet or no sweet, the cherished ideal of home (1)
has great importance for many people.
This ideal is a vital part of the American dream. This dream,
dramatized in the history of nineteenth century European settlers

of the American West, was to find a plece of place, build a house @y
far one's family, and started a famm. These small households were . (3)

portraits of mdependence: the entire family—mother, father, children, -

even grandparents—live in a small house and working together to 5 S ol

support each other. Anyone understood the life-and-death importance (5)
of family cooperation and hard work. Although most people in the
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United States no longer live on farms, but the ideal of home ownership  (6)
mjﬂﬁmmmmmmﬂmhhm.

When U.S soldiers came home before World War 11, for example, (7
mmmmmmmm.hﬂmm (8)
a tremendous boom in home building. The new houses, typically in
ﬁmmﬂrﬁ.muﬁmmﬂmﬂmw]&ﬂﬂﬁnﬂ,hﬂimﬁd (9)
a deep need. Many regarded the single-family house the basis of their 1) e
way of life.

PART V TRANSLATION 20 veints (60 min)

AL — 08 LR R RSN ARSEE, KORERR ESMEEN, BLTH -
JRERH, BAE T BN T MU BB T, —mH LT FIB OO TENT BT HE , AR B o M T, Pt
AR , O O A — ST , 3 IR, S T LA R R D3, 3 AL B RE AT, (L7
HIEMERE SR — A ERT AC LB TFHADEE, 3|8 545 THREZMEMN, YT
RENTHOM—AT,

SECTION B ENGLISH TO CHINESE
ﬂmmmmmm mmmmnmmmmm&.

mmmwmmmmm@mmm. Doing s0, however, iy
mmmmmmmmmumm,mﬂmmmmm, and
mmndmmmﬁ-mmﬁmnmmmmmm. We believe we have
worked someone too hand if, once they are used to exercise, their muscles are sore after a workout. Of
course, miscle soreness is likely at first. mmmmmwmmpmmﬂm
Strmﬂrgnmduwﬂldmhehrdiwemdﬂmpﬂ,

owatﬁthhﬂmwﬂmmmndmm&mm. We start peaple
out with 15 minutes of stretching, 30 1o 40 minutes of walking or walking/jogging. This gives people a good
b@ruirgwﬂtmt&ﬁpainu*i‘m.

PART T WRITING 30 Points (45 min)

mmmmmﬁmmﬂmmﬁmmﬂummm,
How far do you agree UR disagree with these people? Write a composition of about 400 words on the followp-
ing topic:

c—~—11
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humans to see that laughter is 5 not unique to us. I
don't find this too surprising, because we're only one
among many social species and there's no reason why we
should have monopoly__ 6 laughter as a social tool.
The great apes, such as chimpanzees, do something
similar to humans. They open their mouth wide, expose
their teeth, retract the corner of their lips, and make loud
and repetitive vocalizations in situations that tend to
— I human laughter, like when playing with one
another or with humans, or when tickled. Laughter may
even have evolved 8  primates. We know that dogs
while playing have strange 9 of exhalation that differ
from other sounds made during passive or aggressive
confrontation. But I think we need to be careful about

over-interpreting panting behavior in animals 10

(Guo Jian:P89)
1. A. know B. tell
C. hear D. bond
2. A.reasoning B. emotional

o judgmental D. pleasing

2
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3. A. method B. sense
C. reply D. clue
4. A.release B. evasion
G av(:-id-ana:e D. escape
5. A seemingly B. clearly
C. merely D. barely
6. A, for B. at
C.on D. to
7. A provoke B. evoke
C. stir D. awake
8. A.long before B. shortly after
C. from D. in
9. A, examples B. systems
C. displays D. patterns
10. A. at ease B. at present
C. at work D. at play
PART I  READING COMPREHENSION 40Psints (30 min]

In this section there are severnl reading passages followed by a total of twenty madtiple-choice questions.
Read the passages and then mark your answers on your answer sheet .

TEXT A

As the pace of life continnes to increase, we are fast losing the art of relaxation. Once you are in the
habit of reshing through life, being on the go from moming till night, it is hard to slow down. But relaxation
is essential for a healthy mind and body.

Stress is natural part of everyday life and there is no way to avoid it. In fact, it is not the bad thing it is
often supposed to be. A certain amoumt of stress is vital to provide motivation and give purpose to life. It is
only when the stress gets out of control that it can lead to poor performance and ill health.

The amomt of stress a person can withstand depends very much on the individual. Some people are not

L ———e 3
L — [
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to do so even if we could), we need to find ways to deal with it.

11. Pmﬂemﬁhﬁglmmﬂlmmmmmm__
(4] they do not know how to enjoy themselves
[B] they do not believe that relaxation is important for health
(C) they are traveling fast all the time
[Dlﬁwmbﬂnmﬂrgbtuiﬂ'wiﬂlﬂlﬁrmk

li.mgmmemﬂm.mtmhmtmmfuragmdwiﬂhh .
[A] not fearing stress [(B] knowing the art of relacation
(C] high sense of responsibility (D) having control over performance

13. wwmmmrnlhmmnmsismm?
[A] We can find scme ways to avoid stress, :
[E]EMHMMMME.
() It is easy to change the habit of keeping oneself busy with work.
(D) Different people can withstand different amount of stress.

14. The underlined phrase “such a reaction” (Para. 3) most probably refers to e
{A]wmhnga&mbﬂm"wumw [Bjmdimmuhmhdhdmimhruﬂm
(€] responding to crises quickly (D) losing heart at the signs of difficulties

¥ou need to buy a piece of cheese?), and some Were not permanent encugh. The soluticn was money as we
lmow it, that is, as coins. .

mmmmmmmmmwmmmmm
Gireece and in China in about 800 BC. The reason historians believe development was independent is becanse.
i i oF [
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of the notable differences in the two systems.

The first money to appear in China was made of bronze. More notsbly, it was not circular, but in the
'shapemﬂweumnﬁfehadammmﬂummmnmmmw{fume,m
amﬁrlghmﬂitmaﬂrhmemiﬁuﬁrhﬂﬁﬁﬂmmmmm. but what they had in
mm&mﬂE@M.EmnﬁﬂrmmMﬁmmmmemﬂdmﬁm
mmlmappm'?i. and, m.hmmmmamﬂmmawmﬂmn.
This particular coin bore the inseription, “Knife of Ming”, but the knife itself had dissppeared. Tt was from
this coin that the famous “cash” developed. The Chinese word, “cash™ means “a small unit of eurrency” . Al-
wmmmmm,ﬂﬂmﬂbmhﬂm,mm'ﬁwm.mﬂﬂm
19th cenury when they were influenced by westemn models,

15. It is implied in the passage that :
 [A] people used to prefer gold and silver as their medium of exchange
(B) money was invented first in Europe and then in Asia
(€) coins appeared as the result of inconvenience in exchange
(D) mmﬁummmmmm“mmm

16. Which statement is TRUE according to the passage?
(A) China was the first country to use coins in the history of human being.
(B) The coins were used in China more widely than European countries,
(C) All the Chinese cains, though different in shape, had the pierced hole.
(D) Bronzs was the only ideal material wsed to make coins in the early time.

I7. From the third paragraph, we can leam that
[A) the Ming coin cannot be found again
(B) “Knife of Ming” was nothing but the inscription on the coin
[C] the shape of the Ming coin was still like a knife
(D) there is not any change to the design of the Ming coin

18. In the following paragraph, the writer will most probably deal with
[A) how to distinguish a Greek coin from a Chinese one
[B) how to recognize the exact age of Chinese coins
(C) the appearance of “cash”in China
(D] the development of coins in ancient Greece

TEXT C

In addition to his theory of color, Newton developed a theory of how light travels. This is known as the
corpuscular theory of light, meaning that light travels as a series of tiny bits rather than in continuing waves.

L
—
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Nmmrmwﬁm@mmwm.mmmwmammwﬂmmmm
mmmﬂwﬁmwwmﬁammmsmmﬂmmyﬂmmmmiﬂmpﬁpﬂ Somm others started to ar-
gm,mﬂﬂmm“ﬂmmwdhrasdmﬁﬂﬁun}m&ﬂ,ﬂuﬁmw.ﬂtmm.ﬂewﬁmmm
mﬂxqpyvﬂmﬂmnhﬂaaﬁrﬂﬂhzdeddedrﬂungahmpﬂbhwnﬁmm.
MMWWWMMMM.MM.MENWWMEE
the support. Later, after Newton had changed his mind and let his work on gravity be published, he became
WMMMW.MWMMMMMM.MMEMW
they followed his theory. Then, in the early part of the 19th century, the experiments of a French scientist,
mm.mmmmummmamm.sﬂmmwm
Bgﬂn,mhﬂﬂﬂﬁmn'sﬂmhﬂ&miﬂdﬁﬁﬁcﬂwfuamm.
wm.ﬂemmmdﬁﬂumﬁﬁmﬁmm@nfmm.

Each “package” travels out in a fixed pattemn or wave form. These “packages™ of light, urqmunnfﬂrmr
as they are called, mgvmnﬂatmuhazq:ﬁdmﬂﬂﬂmmmgrmgmbmﬂm&m

ﬁmqmﬂmmeuﬂmmdembmmaﬂuaf&nmmm,
Hmvm.mmwpm.ﬁm&mﬁhmm.&EHMEmmmmm.m
wmmwmmﬂmmmm.mnmmuwmm:mummmmm
even better theory? There is certainly still mmuch work to be done with light and color.

19. From this passage it seems that .
(A Newton was not a successful scientist until he published his works
[ B] Newton was a scientist with at least three theories
[(C] Newton's theory was not accepted because Hooke did not approve it
(D] Newton did not publish his theories becamse he was too disappointed

20. According to the passage, the corpuscular theory of ight .
(A) was never accepted by the Royal Society ;
[B] was finally accepted by Hooke and Huygens
[ C) was the most popular during the eighteenth century :
(D) was rejected by Hooke and Huygens but accepted for the next hundred years

21. The evidence of this passage shows that .
(A) the presently-accepted theory of light will soon be replaced by another new theory
[B] mmm;amm@mmmﬂemmmcfm
[G]ﬂmmmmmmmmdmmmmmm
(D] eatlier scientists always aimed at the perfectness of a theory :

27 Which of the following statements is TRUE according to the passage?

s
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[A]Mmﬂﬁv&amr&uﬂwﬂﬂxmtﬂwtﬂwﬂﬁsmﬂaﬂmmahﬂad&mmm

[B] People changed their opinions of Newton simply because he had the theory of gravity published.

[G]mmﬂm?mmﬂmn&ﬂﬂmHmthmedmuﬁmmmmm
travels,

(D] The quantum theory seems to be nearest in idea to that of Fresnel and Newton combined,

TEXTD

When nature is Jeft alone, a balance is reached among the animals and plants living in one area. But when
man interferes with nature, the balance is upset. He grows a crop and takes it away to eat; then there are no
dﬁdemNﬂwm,mﬂmnﬂhtmmmm‘mmaﬁﬁmm
to the soil. mMamﬂmmmmm.mmﬂmmmmmm. To
take the place of the organic matter in the crops that he removes, hemesmhuiufferﬂ.]jzer_. Chernical
fmﬂizmmvmyhbﬁd.htﬂmwﬁem&mﬂmﬂﬂﬁmmmmphdemm
pimﬂmhd.hmphﬁimawimhmwmmmm,mmmmmﬂm
mmmmmm.MMmMMMMMHMMmﬂEM.aM
practice is to bury the waste, so that it decays and iIncreases the hurmus in the soil .

mﬂwpﬂmmmmwwmm&mthm+ammﬁuhﬁﬂmﬂyhmb
come tired, mﬂhnumﬂdmmamdupm 'Ihel:imﬂlu‘dltmahwhrmm Gruin]l:.rgrm
mmmmmmnmhmﬁmmmmmwmm But na-
pare, left alone, mmunimnmmemmmmmmmfumwm melmgthuftlmeramﬂm:l
would depend on Jocal conditions, but it might well be ten years.

Ithnhn&mmmmhmuwmaﬁddmmHm. If the crop is changed, the land will
suffer less because it is treated and used in different ways. Different plants affect the soil differently. Conse-
mmﬂyndﬁ@edm@ﬂﬁl&hﬂn&mhp@dﬁmmmaﬂnmmﬂam
dwmmwﬂlhaﬁthﬂ Mﬂ&uﬁchﬂﬁﬁﬂmmmmmmm
other, a method known as the rotation of crops.

23. An ignorant farmer will make the land poorer :
(AJ if he lets dead Jeaves decay in the soil by themselves
(B) if he makes the humus decrease after taking away his crops
[C) by dearing away all the dead leaves
(D] by buming waste plant material lying about

24. A wise fammer replaces the organic matier in the crops that he removes
[ﬁ]wﬂilwmmnﬁmﬂ:ﬁmhmﬂmmﬁmﬂ'phmamwrﬂmdﬂm&fmﬂm

s 7
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[B) with waste products of animals and decaying remains of plants instead of chemical fertilizers
(C) with waste products of animals and decaying remains of plants better than chemical fertilizers
(D] with chemical fertilizers rather than waste products of animals and decaying remains of plants :

25. It is implied that a modem farmer carmot simply move to another place when his field has become tired.
This is becamse =

(A] the production power of a new field is not higher than that of an old one

[B] it takes a farmer more than ten years to cultivate a new field

(C) the population of the world has increased rapidly

(D] there will be too many grasses in a new field to grow crops

26. We can learn from the passage that the tired land has fully recovered
[A) when grasses and other plants appear again
(B] when the treatment is given by nature alone
[C] after it has been lying idle for ten years
(D] after grasses and other plants have decayed again

TEXT E

W]mmﬂﬁmhﬁnﬂw@m.%ﬁﬂaﬁmrpmﬁrgaﬂm.ﬁmﬂmgﬂmm
ment or petty shoplifting. It was a robbery of close to $ 100,000 worth of vahushle material.

All T had to do was walk into the offices of a busy computer burea, mmbering among its clients, some
of Britain's biggest and best-Jnown compandes, lﬂﬂﬂﬂﬂhh&ﬂf&juﬂlhﬂdmﬂﬁmb&ﬂm By
m:hdhmmﬂmwm Iwu:ﬂetupickmmﬁﬁlmkﬂ:hﬂrgm
desks, study the computer’s answers to confidential questions, mﬂﬁnﬂrmlkmiﬁﬂthnwuﬂcn'ﬂm-
ry tapes under my arm, each one worth, according to the experts, at least $ 40,000 to any competitor of the
mmmmw.ﬂmmmm no checls, mh&ﬂm.mm ml:dd:-
axe-handles, no viclence and very litle risk. 1 was a stranger with no passes or credentials, ]‘Etlﬂ]fl’ﬂﬁﬂ‘l.
noticed my coming or my going.

And this could have been just the beginning. If I knew enough of the computer” s language, its custorners
mm.lmmmnuwmmﬂﬂmMmmmm.&
by using a simple piece of equipment costing anly a few pence from virtually any hardware shop, T could have
sabotaged many banks by wiping out millions of pounds’ worth of information and instructions in seconds.

By retuming often enough to become accepted as part of the office furmiture, T 'could have persuaded the
computer department to add my name to the company payroll at a suitably attractive salary: T could have pro-
vided miyself with a steady income for years. ' :

Of course, this was a put-up job: had my theft been in eamest T would not be writing about it now. 1 was
tnhwtuttumlwtmhpardmmhﬂhhnmﬂmmm But anyone with the right

¥
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technical knowledge and access to inside information could have done just as well on his own.

27. The reporter’s behavior in the computer office was
[A) suspicious : [B] nervous
[C) confident ' (D) awioward

28. What the reporter stole would have been valuable o
[A] another computer fimm [B] a rich criminal
[C] an expart agency (D] a rival company

29. When he went in and out of the office, the reporter was _

LA) told to pass (B] ignored
(C] looked at stangely [D] searched

30. With more kmowledge, the reporter could have used an outside phone to

[A] rob other companies [B] damage the computer
[C) obtain more facts (D] steal from banks
PART I GENERAL KNOWLEDGE . 10 Peints (10 min]

There are ten multiple-choice questions in this section. Choose the best answer to each question. Mark
Jour answers on your answer sheet .

31. In Britain, has the ultimate autharity of law-making,
[A] the King / the Queen [B) the House of Commons
(C] the House of Lords (D) the Prime Minister

32. The three largest cities in Canada do NOT include _

[A) Toronto [B] Quebec

[C] Ottawa [D] Vancouver
33. Most part of Australia has a climate.

[A) hot and dry [B] hot and wet

(C] cold and dry (D) cold and wet

34. It is kmown that Irish landscape is featored by

[A] bogs : [B] mountsins
[C) grassland ; (D] rivers
35. The following plays are comedies by Shakespeare EXCEPT =
[A} A Midsummer Night® s Dream [(B) As You Like }t
[C) The Merchant of Venice (D] Romeo and Juliet
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